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Quadrilaterals ) B
/ ) Trapezoid .
ﬁarallelﬂgraﬂl/ Trapezoid Properties:
. . 1. Omnspair of | | sidas (basas)
Kite Properties: -
Parallelogram Properties:
1. Diagonlas |
2. Onadiagonalisthe L bis. oftheother 1. Both pairs of opposits sidas ara | .
3. One diagonal bisactsa pair of oppositzangles 2. Bothpairs of opposite sidss are =,
4. Omne pair of opposite anglas = 3. DBothpairs of opposits anglas are =,
4. Diagonals bisact zachothar. lﬁg. Trap.
5. Consescutive anglas ars supplameantary.
1
i
[} -
: Isosceles Trapezoid Prop: ]
| 1. Omnspair of | | sidas (basas)
]
]
| Squa_re 2. Bothpairs ofbasz angles are=
i
| 3. DHagonsals arz =
Rhombus Square Properties: Rectangle
1. Both pairs of opposits sidas ara [1.
2. DBothpairs of opposita sidasara=.
ERhombus Properties: ok ELAGERCHL T S TR T Rectangle Properties:
4. Diagonals bisect sachothar.
1. Both pairs of opposite sides are |]. 3. Consacutiveanglesara 1. Both pairs of opposita sidas ara |
2. Both pairs of opposita sidss are=. - 2. DBothpairs of opposits sidas are=.
3. Both pairs of opposita anglas ara=. 6. All cides araz=. 3. DBothpairs of opposits anglas ara =,
4. DHiagonals bisact sach othar 7. Diagonals bisact zachothar | . 4. Ddagonals bisaect sachothar.
5. Consacutive anglas ara supplamantary. 8. Diagonals bisecttheirangles, 5. Consacutive anglasara
b -
6. Allsidesare=. 9. Allanglasaraz 6. Allanglss arz=. *
7. Ddagonals bisactzachothar L. 10. Disgonals ara = 7. Diseonals ars = ©
2. DHagonals bisscttheirangles. 11. All angles ar= 90°. 8. Allangles ara 907 y
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5.5. Honors Geometry DATE: Ia’ d B
Algebra Practice with Quadrilateral Properties
1) A pair of consecutive angles of a parallelogram has measures in the ratio of 3:6.
Find the measure of the larger angle.
Sinte Consecvtive £s are Sopp. iN o ""3""‘“"""‘;
3x+6x =190
9y = 180 meﬁar [ =tx = Llao) =120 V E
X=20
: ] A N D
2) Given: Isosceles Trapezoid ABCD 7
msLA=3x+15
msLB=2x-10
™ t
: B V4 C
Find: m<£LD °
:
4 | il | »
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2) Given: Isosceles Trapezoid ABCD Ly 2
msLA=3x+15
msLB=2x-10
0 B > C
Find: mLD |10

A | BC D ST s sofp. Buse s =

LA+ LB =180
I [5 + WX-10 =10

5x +5 =1k W= 3S = (20
-5 -5 /‘ - 2p=l20’
TS =2 :

Crnee <ZAZTLD=3X415
— A — A :"J{'}j']-l-'lﬁ'

L]

x=12 A B
3) Given: Rhombus ABCD
msLDAB=120 £ :
DB=10+/3 °
| | — i | »
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m=

= E2

E

Measure of all other angles.|

1 N
st 4+bt =

51-} 66)1 - GL

as + 15 =<t

oo 42
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3) Given: Rhombus ABCD !
DB=104/3 £ AL Zbo"
AC=10 2 ML = 0"
. B L’u “!’h
Find: Perimeter of ABCD
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4) Given: Rectangle ABCD -
AD =12 A " B
AE =7 3_1
m ./ ABD=32 & + = +&
1, 1
Find: m 2 DBC 54 BC 3 D H C
m 2 BDC o BD W1 =I%
Since LABC =9 , 90-32=5¢=4DBC
Somce AB N DT (gebr Frm ll-gram) | £ABDT Love AT L5
RIS -2y B [
5) Given: Square ABCD
BC=8 A B
AE= 42 -
]
Flind: m . BEC BD | ¥
L I b
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5) Given: Square ABCD Q
BC=38 A B
AE=42 T W
b
: 0 y 4
Find: m/BEC BD 2 > o5 3
&
[ ]
m-/EAD 95 AB Q
D C
H]
b= yG +9G =32
. : B [
6) Given: Kite ABCD
BA 1 4D N / \ . -
m 2 BEC =5x-10 \ E / o
-
4 | I | »
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6) Given: Kite ABCD £ 8CD =50
ELE #-{:6“(’_:?00 A b ‘a8 C S;HM, df.p..,g_ '__I_‘J
mZBEC=5x-10 E
m £ ABC = 6x w-30 Jx-10=90
=60
o + 0 +r0
Find:  m<EBC & v _
mZEDC ___ 3¢ y o Sx= (00
m/BCD __ 90° D [80-1° 7 oy
=29
rz=
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